# Leibniz Inverse Series Relations and Pfaff-Cauchy Derivative Identities 

## CHU WENCHANG

Abstract: We establish a new pair of inverse series relations with the connection coefficients being involved in higher derivatives of a fixed analytic function, which are utilized, as a uniform approach, to present new proofs of Pfaff-Cauchy derivative identities and Abel-Hagen-Rothe binomial convolution formulae.

Denote by $D$ the derivative operator with respect to $x$. Then the following Leibniz rule for computing higher derivatives of product of two functions $u:=$ $u(x)$ and $v:=v(x)$ (which are at least $n$-times differentiable)

$$
D^{n}(u v)=\sum_{k=0}^{n}\binom{n}{k} D^{k} u D^{n-k} v
$$

has been fundamental in calculus. Two very important generalizations due to Pfaff [28] and Cauchy [4] have recently been unearthed by Johnson [26] who investigated also their applications to orthogonal polynomials and multivariate extentions of Hurwitz' type [24].

Motivated by these beautiful derivative identities, this paper will establish a new pair of inverse series relations with the connection coefficients being involved in higher derivatives of a fixed analytic function. Then we shall utilize this inverse

[^0]pair to review the derivative identities of Olver [27], Pfaff [28] and Cauchy [4] by providing direct and new proofs. Finally, we shall sketch applications to Abel formulae, Hagen-Rothe identities as well as Jensen's convolution on binomial coefficients.

## 1 - Inverse Series Relations

This section will establish the following main theorem about inverse series relations with the connection coefficients being involved in higher derivatives of a fixed analytic function.

Theorem 1. (New inverse series relations). Let $\phi:=\phi(x)$ be an infinitely differentiable function with respect to $x$. Then the system of equations

$$
\begin{equation*}
f(n)=\sum_{k=0}^{n}\binom{n}{k} \frac{a+b k}{a+b n} D^{n-k} \phi^{a+b n} g(k), \quad n=0,1,2, \ldots \tag{1a}
\end{equation*}
$$

is equivalent to the system

$$
\begin{equation*}
g(n)=\sum_{k=0}^{n}\binom{n}{k} D^{n-k} \phi^{-a-b k} f(k), \quad n=0,1,2, \ldots \tag{1b}
\end{equation*}
$$

Replacing $g(k)$ by $g(k) /(a+b k)$, we may express the relations displayed in the theorem in the following more symmetrical form:

$$
\begin{align*}
& f(n)=\sum_{k=0}^{n}\binom{n}{k} D^{n-k} \frac{\phi^{a+b n}}{a+b n} g(k),  \tag{2a}\\
& g(n)=\sum_{k=0}^{n}\binom{n}{k} D^{n-k} \frac{a+b n}{\phi^{a+b k}} f(k) . \tag{2b}
\end{align*}
$$

Proof. One implication of this inverse pair is that for every identity of the form (1a) or (1b), there is a companion of the dual identity. To prove each is to prove both. Therefore it is sufficient to show that the latter implies the former. Substituting (1b) into (1a) and then applying the binomial relation

$$
\binom{n}{k}\binom{k}{i}=\binom{n}{i}\binom{n-i}{k-i}
$$

we can reformulate the double sum expression as follows:

$$
\begin{aligned}
& \sum_{k=0}^{n} \frac{a+b k}{a+b n}\binom{n}{k} D^{n-k} \phi^{a+b n} \sum_{i=0}^{k}\binom{k}{i} D^{k-i} \phi^{-a-b i} f(i) \\
& =\sum_{i=0}^{n}\binom{n}{i} f(i) \sum_{k=i}^{n} \frac{a+b k}{a+b n}\binom{n-i}{k-i} D^{n-k} \phi^{a+b n} D^{k-i} \phi^{-a-b i} .
\end{aligned}
$$

In order to show that the last double sum reduces to $f(n)$, we have to prove the following orthogonal relation:

$$
\begin{equation*}
\sum_{k=i}^{n} \frac{a+b k}{a+b n}\binom{n-i}{k-i} D^{n-k} \phi^{a+b n} D^{k-i} \phi^{-a-b i}=\delta_{i, n} \tag{3}
\end{equation*}
$$

Splitting the last sum according to the relation

$$
\frac{a+b k}{a+b n}\binom{n-i}{k-i}=\binom{n-i}{k-i}-\frac{b(n-i)}{a+b n}\binom{n-i-1}{k-i}
$$

and then appealing to the Leibniz rule, we get

$$
\begin{aligned}
& \sum_{k=i}^{n} \frac{a+b k}{a+b n}\binom{n-i}{k-i} D^{n-k} \phi^{a+b n} D^{k-i} \phi^{-a-b i} \\
& =\sum_{k=i}^{n}\binom{n-i}{k-i} D^{n-k} \phi^{a+b n} D^{k-i} \phi^{-a-b i} \\
& \quad-\frac{b(n-i)}{a+b n} \sum_{k=i}^{n-1}\binom{n-i-1}{k-i} D^{n-k} \phi^{a+b n} D^{k-i} \phi^{-a-b i} \\
& =D^{n-i} \phi^{b(n-i)}-\frac{b(n-i)}{a+b n} D^{n-i-1}\left\{\phi^{-a-b i} D \phi^{a+b n}\right\} .
\end{aligned}
$$

Then the orthogonal relation displayed in (3) follows from the trivial fact

$$
\phi^{-a-b i} D \phi^{a+b n}=\frac{a+b n}{b(n-i)} D \phi^{b(n-i)}
$$

Instead, if we substitute (1a) into (1b), then we would get another orthogonal relation

$$
\begin{equation*}
\sum_{k=i}^{n} \frac{a+b i}{a+b k}\binom{n-i}{k-i} D^{n-k} \phi^{-a-b k} D^{k-i} \phi^{a+b k}=\delta_{i, n} \tag{4}
\end{equation*}
$$

However, the proof of this orthogonal relation would be much more tedious.

## 2 - Derivative Identities

This section will review the four derivative identities due to Olver [27, 1992], Pfaff [28, 1795] and Cauchy [4, 1826] by combining the Leibniz rule with the inverse series relations proved in the last section.

## 2.1 - Derivative identity due to Olver (1992)

By means of differential operator method, Olver [27, 1992] found the following identity.

Theorem 2. (Derivative identity). Let $\phi:=\phi(x)$ be a $n$-times differentiable function with respect to $x$. Then there holds the following formula:

$$
\frac{a+c}{a+c+n} D^{n} \phi^{a+c+n}=\sum_{k=0}^{n} \frac{a c}{(a+k)(c+n-k)}\binom{n}{k} D^{k} \phi^{a+k} D^{n-k} \phi^{c+n-k} .
$$

Proof. Replacing $c$ by $c-n$, we may rewrite the equation as

$$
\frac{c(a+c-n)}{(a+c)(c-n)} D^{n} \phi^{a+c}=\sum_{k=0}^{n}\binom{n}{k} D^{n-k} \phi^{c-k} \frac{a c}{(a+k)(c-k)} D^{k} \phi^{a+k}
$$

This relation perfectly matches (1b) specified with

$$
a \rightarrow-c \quad \text { and } \quad\left\{\begin{aligned}
f(k) & :=\frac{a c}{(a+k)(c-k)} D^{k} \phi^{a+k} \\
g(n) & :=\frac{c(a+c-n)}{(a+c)(c-n)} D^{n} \phi^{a+c}
\end{aligned}\right.
$$

According to Theorem 1, it suffices to prove the dual relation corresponding to (1a):

$$
\frac{a c}{(a+n)(c-n)} D^{n} \phi^{a+n}=\sum_{k=0}^{n}\binom{n}{k} \frac{c-k}{c-n} D^{n-k} \phi^{n-c} \frac{c(a+c-k)}{(a+c)(c-k)} D^{k} \phi^{a+c}
$$

which is equivalent to the following equation:

$$
\frac{a}{a+n} D^{n} \phi^{a+n}=\sum_{k=0}^{n}\binom{n}{k} \frac{a+c-k}{a+c} D^{k} \phi^{a+c} D^{n-k} \phi^{n-c} .
$$

By invoking the relation

$$
\frac{a+c-k}{a+c}\binom{n}{k}=\binom{n}{k}-\frac{n}{a+c}\binom{n-1}{k-1}
$$

we may evaluate the last sum through the Leibniz rule as follows:

$$
\begin{aligned}
& \sum_{k=0}^{n}\binom{n}{k} \frac{a+c-k}{a+c} D^{k} \phi^{a+c} D^{n-k} \phi^{n-c} \\
& =\sum_{k=0}^{n}\binom{n}{k} D^{k} \phi^{a+c} D^{n-k} \phi^{n-c} \\
& \quad-\frac{n}{a+c} \sum_{k=1}^{n}\binom{n-1}{k-1} D^{k} \phi^{a+c} D^{n-k} \phi^{n-c} \\
& =D^{n} \phi^{a+n}-\frac{n}{a+c} D^{n-1}\left\{\phi^{n-c} D \phi^{a+c}\right\} \\
& =D^{n} \phi^{a+n}\left\{1-\frac{n}{a+n}\right\}=\frac{a}{a+n} D^{n} \phi^{a+n}
\end{aligned}
$$

## 2.2 - Derivative identity due to Pfaff (1795)

Pfaff [28, 1795] found the following generalization of Leibniz' rule with an additional $\phi$-function (see also [2, 3], [26, Eq 1.1] and [31]).

Theorem 3. (Derivative identity). Let $u:=u(x), v:=v(x)$ and $\phi:=\phi(x)$ be three $n$-times differentiable functions with respect to $x$. Then there holds the following formula:

$$
D^{n}(u v)=\sum_{k=0}^{n}\binom{n}{k} D^{k-1}\left(\phi^{k} u^{\prime}\right) D^{n-k}\left(\phi^{-k} v\right)
$$

In fact, when $\phi \equiv 1$, this identity becomes the Leibniz formula.
Proof. According to the Leibniz rule, we have the following triple sum expression:

$$
\begin{aligned}
& \sum_{k=1}^{n}\binom{n}{k} D^{k-1}\left(\phi^{k} u^{\prime}\right) D^{n-k}\left(\phi^{-k} v\right) \\
& =\sum_{k=1}^{n}\binom{n}{k} \sum_{i=1}^{k}\binom{k-1}{i-1} u^{(i)} D^{k-i} \phi^{k} \sum_{j=k}^{n}\binom{n-k}{j-k} v^{(n-j)} D^{j-k} \phi^{-k} \\
& =\sum_{i=1}^{n} \sum_{j=i}^{n}\binom{n}{j}\binom{j}{i} u^{(i)} v^{(n-j)} \sum_{k=i}^{j} \frac{i}{k}\binom{j-i}{k-i} D^{k-i} \phi^{k} D^{j-k} \phi^{-k}
\end{aligned}
$$

In view of (4), the last sum with respect to $k$ reduces to $\delta_{i, j}$. Applying again the Leibniz rule leads us to the following simplified expression:

$$
\begin{aligned}
& \sum_{k=0}^{n}\binom{n}{k} D^{k-1}\left(\phi^{k} u^{\prime}\right) D^{n-k}\left(\phi^{-k} v\right) \\
& =u v^{(n)}+\sum_{i=1}^{n} \sum_{j=i}^{n}\binom{n}{j}\binom{j}{i} u^{(i)} v^{(n-j)} \delta_{i, j} \\
& =\sum_{i=0}^{n}\binom{n}{i} u^{(i)} v^{(n-i)}=D^{n}(u v) .
\end{aligned}
$$

## 2.3 - Derivative identities due to Cauchy (1826)

Replacing $v$ by $\phi^{n} v$, we recover from Theorem 3 the following formula due to Cauchy (cf. Gould [20] and Johnson [26, Eq 1.3]):

$$
\begin{equation*}
D^{n}\left\{\phi^{n} u v\right\}=\sum_{k=0}^{n}\binom{n}{k} D^{k-1}\left(\phi^{k} u^{\prime}\right) D^{n-k}\left(\phi^{n-k} v\right) \tag{5}
\end{equation*}
$$

Observing the relations

$$
\begin{aligned}
\phi^{n} D(u v) & =D\left(\phi^{n} u v\right)-n \phi^{n-1} \phi^{\prime} u v \\
D\left(\phi^{n-k} v\right) & =\phi^{n-k} v^{\prime}+(n-k) \phi^{n-k-1} \phi^{\prime} v
\end{aligned}
$$

we can carry out through (5) the following computation

$$
\begin{aligned}
D^{n-1}\left\{\phi^{n} D(u v)\right\}= & D^{n}\left(\phi^{n} u v\right)-n D^{n-1}\left\{\phi^{n-1} \phi^{\prime} u v\right\} \\
= & \sum_{k=0}^{n}\binom{n}{k} D^{k-1}\left(\phi^{k} u^{\prime}\right) D^{n-k}\left(\phi^{n-k} v\right) \\
& -n \sum_{k=0}^{n-1}\binom{n-1}{k} D^{k-1}\left(\phi^{k} u^{\prime}\right) D^{n-k-1}\left(\phi^{n-k-1} \phi^{\prime} v\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} D^{k-1}\left(\phi^{k} u^{\prime}\right) D^{n-k-1}\left(\phi^{n-k} v^{\prime}\right) .
\end{aligned}
$$

This results in another symmetric companion also due to Cauchy [4, 1826].
Theorem 4. (Derivative identity: see [26, Eq 1.4] and [33] also). Let $u:=u(x), v:=v(x)$ and $\phi:=\phi(x)$ be three $n$-times differentiable functions with respect to $x$. Then there holds the following formula:

$$
D^{n-1}\left\{\phi^{n} D(u v)\right\}=\sum_{k=0}^{n}\binom{n}{k} D^{k-1}\left(\phi^{k} u^{\prime}\right) D^{n-k-1}\left(\phi^{n-k} v^{\prime}\right)
$$

For $u=\phi^{a}$ and $v=\phi^{c}$, it is not hard to check that this identity reduces to Olver's one displayed in Theorem 2. Vice versa, this theorem is also implied by Theorem 2. This can be shown directly as follows.

Proof. According to the Leibniz rule, we have the following triple sum expression:

$$
\begin{aligned}
& \sum_{k=0}^{n}\binom{n}{k} D^{k-1}\left(\phi^{k} u^{\prime}\right) D^{n-k-1}\left(\phi^{n-k} v^{\prime}\right) \\
& =\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{k} \frac{i}{k}\binom{k}{i} u^{(i)} D^{k-i} \phi^{k} \sum_{j=k}^{n} \frac{n-j}{n-k}\binom{n-k}{n-j} v^{(n-j)} D^{j-k} \phi^{n-k} \\
& =\sum_{i=0}^{n} \sum_{j=i}^{n}\binom{n}{j}\binom{j}{i} u^{(i)} v^{(n-j)} \sum_{k=i}^{j} \frac{i(n-j)}{k(n-k)}\binom{j-i}{k-i} D^{k-i} \phi^{k} D^{j-k} \phi^{n-k} .
\end{aligned}
$$

Specifying in Theorem 2

$$
a \rightarrow i, \quad c \rightarrow n-j, \quad n \rightarrow j-i, \quad k \rightarrow k-i
$$

we may evaluate the last sum with respect to $k$ as follows:

$$
\sum_{k=i}^{j} \frac{i(n-j)}{k(n-k)}\binom{j-i}{k-i} D^{k-i} \phi^{k} D^{j-k} \phi^{n-k}=\frac{n+i-j}{n} D^{j-i} \phi^{n} .
$$

Substituting this into the triple sum expression and then changing the summation indices by the replacements $j \rightarrow n-j$ and $i+j \rightarrow k$, we can reduce, through the Leibniz rule, the triple sum as follows:

$$
\begin{aligned}
& \sum_{k=0}^{n}\binom{n}{k} D^{k-1}\left(\phi^{k} u^{\prime}\right) D^{n-k-1}\left(\phi^{n-k} v^{\prime}\right) \\
& =\sum_{i=0}^{n} \sum_{j=i}^{n} \frac{n+i-j}{n}\binom{n}{j}\binom{j}{i} u^{(i)} v^{(n-j)} D^{j-i} \phi^{n} \\
& =\sum_{i=0}^{n} \sum_{j=0}^{n-i} \frac{i+j}{n}\binom{n}{i+j}\binom{i+j}{i} u^{(i)} v^{(j)} D^{n-i-j} \phi^{n} \\
& =\sum_{k=0}^{n} \frac{k}{n}\binom{n}{k} D^{n-k} \phi^{n} \sum_{i=0}^{k}\binom{k}{i} u^{(i)} v^{(k-i)} \\
& =\sum_{k=0}^{n} \frac{k}{n}\binom{n}{k} D^{k}(u v) D^{n-k} \phi^{n}=D^{n-1}\left\{\phi^{n} D(u v)\right\}
\end{aligned}
$$

## 2.4 - Derivative identity of Jensen type due to Pfaff (1795)

Define the binomial convolution on derivatives

$$
J_{n}(u, v):=\sum_{k=0}^{n}\binom{n}{k} D^{k}\left(\phi^{k} u\right) D^{n-k}\left(\phi^{-k} v\right)
$$

Applying Pfaff's formula displayed in Theorem 3 to the three-terms relation

$$
D\left(\phi^{k} u\right)=\phi^{k} u^{\prime}+k \phi^{k-1} \phi^{\prime} u
$$

we can derive recursively the following expression

$$
\begin{aligned}
J_{n}(u, v) & =D^{n}(u v)+n J_{n-1}\left(u \phi^{\prime}, v / \phi\right) \\
& =D^{n}(u v)+n D^{n-1}\left(\frac{\phi^{\prime}}{\phi} u v\right)+n(n-1) J_{n-2}\left(u \phi^{\prime 2}, v / \phi^{2}\right) \\
& =n!J_{0}\left(u \phi^{\prime n}, v / \phi^{n}\right)+\sum_{k=1}^{n} \frac{n!}{k!} D^{k}\left\{\left(\phi^{\prime} / \phi\right)^{n-k} u v\right\} .
\end{aligned}
$$

The finite induction confirms the following formula also due to Pfaff [28, 1795].

Theorem 5. (Derivative identity of Jensen type: see [26, Eq 1.2] also) Let $u:=u(x), v:=v(x)$ and $\phi:=\phi(x)$ be three $n$-times differentiable functions with respect to $x$. Then there holds the following formula:

$$
\sum_{k=0}^{n}\binom{n}{k} D^{k}\left(\phi^{k} u\right) D^{n-k}\left(\phi^{-k} v\right)=\sum_{k=0}^{n} \frac{n!}{k!} D^{k}\left\{\left(\phi^{\prime} / \phi\right)^{n-k} u v\right\}
$$

This can be verified directly by combining the inverse series relations with the telescoping method.

Proof. First we show the following special case with $u=\phi^{a}$ and $v=\phi^{c}$ :

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} D^{k} \phi^{a+k} D^{n-k} \phi^{c-k}=\sum_{k=0}^{n} \frac{n!}{k!} D^{k}\left\{\phi^{a+c}\left(\frac{\phi^{\prime}}{\phi}\right)^{n-k}\right\} \tag{6}
\end{equation*}
$$

According to Theorem 1, it suffices to prove the following dual relation:

$$
D^{n} \phi^{a+n}=\sum_{k=0}^{n} \frac{c-k}{c-n}\binom{n}{k} D^{n-k} \phi^{n-c} \sum_{i=0}^{k} \frac{k!}{i!} D^{i}\left\{\phi^{a+c}\left(\frac{\phi^{\prime}}{\phi}\right)^{k-i}\right\} .
$$

Denote the last double sum by $\mathcal{S}$. Reversing the internal summation order by $i \rightarrow k-i$ and then interchanging the double sum order, we can reformulate $\mathcal{S}$ as follows:

$$
\mathcal{S}=\sum_{i=0}^{n} \frac{n!}{(n-i)!} \sum_{k=i}^{n} \frac{c-k}{c-n}\binom{n-i}{k-i} D^{n-k} \phi^{n-c} D^{k-i}\left\{\phi^{a+c}\left(\frac{\phi^{\prime}}{\phi}\right)^{i}\right\}
$$

Writing

$$
\frac{c-k}{c-n}\binom{n-i}{k-i}=\binom{n-i}{k-i}+\frac{n-i}{c-n}\binom{n-i-1}{k-i}
$$

and then applying the Leibniz rule, we can proceed

$$
\begin{aligned}
\mathcal{S}-n!\phi^{a} \phi^{\prime n} & =\sum_{i=0}^{n-1} \frac{n!}{(n-i)!}\left\{D^{n-i}\left(\phi^{a+n-i} \phi^{\prime}\right)-(n-i) D^{n-i-1}\left(\phi i^{a+n-i-1} \phi^{\prime i+1}\right)\right\} \\
& =n!\sum_{i=0}^{n-1}\left\{\frac{D^{n-i}\left(\phi^{a+n-i} \phi^{\prime i}\right)}{(n-i)!}-\frac{D^{n-i-1}\left(\phi^{a+n-i-1} \phi^{\prime i+1}\right)}{(n-i-1)!}\right\} \\
& =D^{n} \phi^{a+n}-n!\phi^{a} \phi^{\prime n}
\end{aligned}
$$

where the last line is justified by the telescoping method. This proves (6).
According to the definition of $J_{n}(u, v)$, we have again a triple sum expression:

$$
\begin{aligned}
J_{n}(u, v) & =\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{k}\binom{k}{i} u^{(i)} D^{k-i} \phi^{k} \sum_{j=0}^{n-k}\binom{n-k}{j} v^{(j)} D^{n-k-j} \phi^{-k} \\
& =\sum_{i, j: 0 \leq i+j \leq n}\binom{n}{i+j}\binom{i+j}{i} u^{(i)} v^{(j)} \sum_{k=i}^{n-j}\binom{n-i-j}{k-i} D^{k-i} \phi^{k} D^{n-k-j} \phi^{-k} \\
& =\sum_{\ell=0}^{n}\binom{n}{\ell} \sum_{i=0}^{\ell}\binom{\ell}{i} u^{(i)} v^{(\ell-i)} \sum_{k=0}^{n-\ell}\binom{n-\ell}{k} D^{k} \phi^{k+i} D^{n-k-\ell} \phi^{-k-i}
\end{aligned}
$$

Applying (6) to the last sum and then recalling the Leibniz rule, we can reduce the triple sum just displayed as

$$
\begin{aligned}
J_{n}(u, v) & =\sum_{\ell=0}^{n}\binom{n}{\ell} \sum_{i=0}^{\ell}\binom{\ell}{i} u^{(i)} v^{(\ell-i)} \sum_{k=0}^{n-\ell} \frac{(n-\ell)!}{k!} D^{k}\left(\frac{\phi^{\prime}}{\phi}\right)^{n-k-\ell} \\
& =\sum_{\ell=0}^{n}\binom{n}{\ell} D^{\ell}(u v) \sum_{k=0}^{n-\ell} \frac{(n-\ell)!}{k!} D^{k}\left(\frac{\phi^{\prime}}{\phi}\right)^{n-k-\ell}
\end{aligned}
$$

Finally the last expression can further be simplified, by letting $k+\ell=m$, as follows:

$$
\begin{aligned}
J_{n}(u, v) & =\sum_{m=0}^{n} \frac{n!}{m!} \sum_{k=0}^{m}\binom{m}{k} D^{k}\left(\frac{\phi^{\prime}}{\phi}\right)^{n-m} D^{m-k}(u v) \\
& =\sum_{m=0}^{n} \frac{n!}{m!} D^{m}\left\{\left(\phi^{\prime} / \phi\right)^{n-m} u v\right\}
\end{aligned}
$$

This completes the proof of Pfaff's identity of Jensen type.

## 3 - Generalized Binomial Convolution Formulae

Just as done by Johnson [26, $\S 3]$, the derivative identities proved in the last section can be used to recover the convolution formulae of Abel and Hagen-Rothe as well as Jensen.

## 3.1 - Abel identities

Taking $u=e^{a x}, v=e^{c x}$ and $\phi=e^{b x}$ in (5) and Theorem 4, we derive immediately the Abel formulae (cf. [1], [5, 12], [15, §3.1] and [29, §1.5]):

$$
\begin{align*}
& \frac{(a+c+b n)^{n}}{n!}=\sum_{k=0}^{n} \frac{a}{a+b k} \frac{(a+b k)^{k}}{k!} \frac{\{c+b(n-k)\}^{n-k}}{(n-k)!},  \tag{7a}\\
& \text { (7b) } \frac{a+c}{a+c+b n} \frac{(a+c+b n)^{n}}{n!}=\sum_{k=0}^{n} \frac{a}{a+b k} \frac{(a+b k)^{k}}{k!} \frac{c}{c+b(n-k)} \frac{\{c+b(n-k)\}^{n-k}}{(n-k)!} \text {. }
\end{align*}
$$

Furthermore, Theorem 5 under the same setting leads us to the following convolution formula of Jensen type (cf.[6] and [18, 21])

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k}(a+b k)^{k}(c-b k)^{n-k}=\sum_{k=0}^{n} \frac{n!}{k!}(a+c)^{k} b^{n-k} \tag{8}
\end{equation*}
$$

## 3.2 - Hagen-Rothe identities

Similarly, taking $u=(1+x)^{a}, v=(1+x)^{c}$ and $\phi=(1+x)^{b}$ in (5) and Theorem 4, we derive the Hagen-Rothe identities (cf. [5, 12], [16, 17], [23, §5.4] and $[30,32]$ ):

$$
\begin{align*}
(9 \mathrm{a}) & \binom{a+c+b n}{n}=  \tag{9a}\\
\text { (9b) } \frac{\sum_{k=0}^{n} \frac{a}{a+b k}\binom{a+b k}{k}\binom{c+b(n-k)}{n-k},}{}\binom{a+c+b n}{n}= & \sum_{k=0}^{n} \frac{a}{a+b k}\binom{a+b k}{k} \frac{c}{c+b(n-k)} \\
& \cdot\binom{c+b(n-k)}{n-k} .
\end{align*}
$$

In addition, applying the same setting to Theorem 5 recovers Jensen's binomial convolution formula (cf.[6], [18, 19] and [25]):

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{a+b k}{k}\binom{c-b k}{n-k}=\sum_{k=0}^{n}\binom{a+c-k}{n-k} b^{k} \tag{10}
\end{equation*}
$$

## 3.3 - Gould-Hsu inverse series relations

For two arbitrary complex sequences $\left\{a_{k}\right\}$ and $\left\{b_{k}\right\}$, define the polynomials

$$
\begin{equation*}
\varphi(x ; 0)=1 \quad \text { and } \quad \varphi(x ; n)=\prod_{k=0}^{n-1}\left(a_{k}+x b_{k}\right) \quad \text { for } \quad n=1,2, \ldots \tag{11}
\end{equation*}
$$

Gould and Hsu [22] found the following very general inverse pair:

$$
\begin{align*}
& f(n)=\sum_{k=0}^{n}(-1)^{k}\binom{n}{k} \varphi(k ; n) g(k),  \tag{12a}\\
& g(n)=\sum_{k=0}^{n}(-1)^{k}\binom{n}{k} \frac{a_{k}+k b_{k}}{\varphi(n ; k+1)} f(k) . \tag{12b}
\end{align*}
$$

Even though this inverse pair is very different from that displayed in Theorem 1, we can check without difficulty that as special cases, they contain the following reciprocal relations in common:

$$
\begin{align*}
& f(n)=\sum_{k=0}^{n}(-1)^{k}\binom{n}{k}(a+b k)^{n} g(k),  \tag{13a}\\
& g(n)=\sum_{k=0}^{n}(-1)^{k}\binom{n}{k} \frac{a+b k}{(a+b n)^{k+1}} f(k) .  \tag{13b}\\
& f(n)=\sum_{k=0}^{n}(-1)^{k}\binom{n}{k}(a+b k)_{n} g(k),  \tag{14a}\\
& g(n)=\sum_{k=0}^{n}(-1)^{k}\binom{n}{k} \frac{a+b k+k}{(a+b n)_{k+1}} f(k) . \tag{14b}
\end{align*}
$$

These inverse series relations have been employed by Chu and Hsu [14] to verify directly Abel-Hagen-Rothe identities through the binomial theorem

$$
(a+c)^{n}=\sum_{k=0}^{n}\binom{n}{k} a^{k} c^{n-k}
$$

and the Chu-Vandermonde convolution formula of binomial coefficients

$$
\binom{a+c}{n}=\sum_{k=0}^{n}\binom{a}{k}\binom{c}{n-k}
$$

Further applications of Gould-Hsu inversions to classical hypergeometric summation formulae as well as their generalizations can be found in Chu [7, 8, 9, 10, 11, 13].

## REFERENCES

[1] N. H. Abel: Sur les functions génératrices et leurs déterminants, uvres complétes (Grndahl \& Son, Christiania) 2 (1881), 67-81.
[2] H. Alzer: On an extension of Leibniz' product rule, Analysis 10 (1990), 295-297.
[3] H. Alzer: Corrigendum to "On an extension of Leibniz' product rule", Analysis 11 (1991), 395-396.
[4] A. L. Cauchy: Application du calcul des résidus a la sommation de plusieurs suites, Exercices de Mathématiques 1 (1826), 45-53; uvres complés d'Augustin Cauchy (Cauthier-Villars, Paris) 2nd series 6 (1887), 62-73.
[5] W. Chu: On an extension of a partition identity and its Abel analog, J. Math. Research \& Exposition 6:4 (1986), 37-39.
[6] W. Chu: Jensen's theorem on multinomial coefficients and its Abel analogue, Appl. Math. 4:2 (1989, Hangzhou), 172-178.
[7] W. Chu: Multifold analogues of Gould-Hsu inversions and their applications, Acta Math. Appl. Sinica 5:3 (1989, New Series), 262-268.
[8] W. Chu: Some multifold reciprocal transformations with applications to series expansions, Europ. J. Combinatorics 12:1 (1991), 1-8.
[9] W. Chu: Inversion Techniques and Combinatorial Identities, Boll. Un. Mat. Ital. B(7) 7:4 (1993), 737-760.
[10] W. Chu: Inversion Techniques and Combinatorial Identities: A quick introduction to hypergeometric evaluations, Runs and Patterns in Probability (Eds. A. P. Godbole \& S. G. Papastavridis): Math. Appl. 283 (1994), 31-57.
[11] W. Chu: Inversion Techniques and Combinatorial Identities: Jackson's q-analogue of the Dougall-Dixon theorem and the dual formulae, Compositio Mathematica 95 (1995), 43-68.
[12] W. Chu: Generating functions and combinatorial identities, Glasnik Matematicki 33 (1998), 1-12.
[13] W. Chu: Inversion Techniques and Combinatorial Identities: Balanced Hypergeometric Series, Rocky Mountain J. Math. 32:2 (2002), 561-587.
[14] W. Chu, L. C. Hsu: Some new applications of Gould-Hsu inversions, J. Combinatorics, Information \& System Sciences 14:1 (1990), 1-4.
[15] L. Comtet: Advanced Combinatorics, D. Reidel Publishing company, DordrechtHolland (1974).
[16] H. W. Gould: Some generalizations of Vandermonde's convolution, American Mathematical Monthly 63 (1956), 84-91.
[17] H. W. Gould: Final analysis of Vandermonde's convolution, American Mathematical Monthly 64 (1957), 409-415.
[18] H. W. Gould: Generalization of a theorem of Jensen concerning convolutions, Duke Math. J. 27 (1960), 71-76.
[19] H. W. Gould: Combinatorial Identities, Morgantown (1972).
[20] H. W. Gould: Two remarkable extensions of the Leibniz differentiation formula, Buletinil Institutului Politehnic din Iaşi (N.S.) 18 (1972), 47-53.
[21] H. W. Gould: New inverse series relations for finite and infinite series with applications, J. Math. Res. \& Expos. 4:2 (1984), 119-130.
[22] H. W. Gould - L. C. Hsu: Some new inverse series relations, Duke Math. J. 40 (1973), 885-891.
[23] R. L. Graham, D. E. Knuth \& O. Patashnik: Concrete Mathematics, AddisonWesley Publishing Company, Reading, Massachusetts (1989).
[24] A. Hurwitz: Über Abel's Verallgemeinerung der binomischen Formel, Acta Mathematica 26 (1902), 199-203; Mathematische Werke (Birkhuser Verlag, Basel) 1 (1932), 572-576.
[25] J. L. W. V. Jensen: Sur une identité d'Abel et sur d'autres formules analogues, Acta Mathematica 26 (1902), 307-318.
[26] W. P. Johnson: The Pfaff/Cauchy derivative identities and Hurwitz type extensions, Ramanujan J. 13:1-3 (2007), 167-201.
[27] P. L. Olver: A nonlinear differential operator series that commutes with any function, SIAM J. Math. Anal. 23:1 (1992), 209-221.
[28] J. F. Pfaff: Allgemeine Summation einer Reihe, worinn hohere differenziale vorkommen: Archiv der reinen und angewandten Mathematik 1 (1795), 337-347.
[29] J. Riordan: Combinatorial Identities, John Wiley \& Sons, New York (1968).
[30] H. A. Rothe: Formulae de serierum reversione, Leipzig (1793).
[31] S. Ruscheweyh: Eine Verallgemeinerung der Leibnizschen Produktregel, Mathematische Nachrichten 58 (1973), 241-245.
[32] V. Strehl: Identities of Rothe-Abel-Schläfli-Hurwitz-type, Discrete Math. 99 (1992), 321-340.
[33] G. Tinhofer: Über eine Anwendung der Lagrangeschen Reihe, Mathematische Nachrichten 5 (1973), 201-213.

Lavoro pervenuto alla redazione il 05 giugno 2009 ed accettato per la pubblicazione il 31 giugno 2009. Bozze licenziate il 01 ottobre 2009

## Indirizzo DEGLI AUTORI:

Chu Wenchang - Dipartimento di Matematica - Università del Salento - Lecce-Arnesano P. O. Box $193-73100$ Lecce, ITALIA
tel $39+0832+297403$ - fax $39+0832+297594-$ E-mail: chu.wenchang@unile.it


[^0]:    Key Words and Phrases: The Leibniz rule - Pfaff and Cauchy derivative identities - Abel formulae - Hagen-Rothe identities - Jensen's binomial convolution - Gould-Hsu inverse series relations
    A.M.S. Classification: 26A06, 34A25, 05A19.

